Integer Division (F)

(—60) = (—5) =

(—4) = (—4) =
16 +-8 =

22+ (—11) =
12012 =
13212 =
(=3)+(—3) =
(—10) +-5=
652 i=

(=63) + (=7) =

4529 —

(—18) = (—6) —

24 -6 =

77+ (—11) =
40 = (—4) =
48 = (—6) =

(—121) = (—11) =

405 =
20+ (—4) =

(—45)=(—9) =

96+ (—8) =

(—54) = (—9) =

80+ 8 =
(—64)+-8=
4=-(—1)=

Find each quotient.

(—40) -8 =
(—12)+6=
84+ (—12) =
110+ (—11) =
T2+ (—9) =
36 -9 =
222
42+ (—6) =
(—22) =11 =
(—24)+2=
(—72) 6=

(—16) = (—4) =
(—72) ~ (—12) =

8l +9=
(—35)+5=
(—8)+1=

45 -5 =
9+1=

32+ (—4) =
42 -6 =
(—11)+1=
(—18) -9 =
(-3)+(-3) =

(—96) + (—8) =
(—40) = (—4) =

(—10) 2 =
(—35) = (—7) =
(—20) = (—2) =
24+ (—2) =

(A2) ST )i

36 -3 =

121 =11 =
90+9 =
(—54) = (—9) =
(—84) =7 =
(—6)+~6 =
(—6) =+ (—3) =
ZHEB—
(—11)=1=
6+-(—6) =

(—60) = (—12) =

4= (—4) =
(—12)=1=
(—32)+(—4)=
8+ (—2)=
(—24) +(—3) =
(—16) +(—2) =
84 =7 =

305 (—3) =
122 (—12) =

48 - 12 =

36+ (—12) =
(—48) =8 =
12+ (—3) =
30+-5=

108 -9 =
(—9)=1=
(—60)+5 =
287 =
(=3)+1=
1223 =
(—24) + (—3) =
(—24)+6=
(—48) =~ (—6) =
(—45)+9 =
36 - (—4) =
61 =
(—66) = (—11) =
(—36)=(—4) =
§+-2=
(—3)=1=
(—32) ~4=
108 + (—12) =
56+ (—8) =
(—24) =8 —
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